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# FRaDBE,

[RouterA] multicast routing-enable

# {E3& O Ethernet0/0/0_EZEIGMP, PIM-DM,
[RouterA] interface ethernet 0/0/0
[RouterA-Ethernet0/0/0] igmp enable
[RouterA-Ethernet0/0/0] pim dm

# BeEEthernet0/0/073E33.33.33.2{E JIPIMSBIE.
[RouterA-Ethernet0/0/0] pim neighbor-policy 2001
[RouterA-Ethernet0/0/0] quit

[RouterA] acl number 2001
[RouterA-acl-basic-2001] rule deny source 33.33.33.2 0
[RouterA-acl-basic-2001] rule permit source any
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# FRahBE,

[RouterB] multicast routing-enable

# {Ei&OEthernet0/0/0, Ethernet1/0/0_L/EZ1IGMPE;PIM-DM,
[RouterB] interface ethernet 0/0/0

[RouterB-Ethernet0/0/0] ip address22.22.22.1 24
[RouterB-Ethernet0/0/0] igmp enable

[RouterB-Ethernet0/0/0] pim dm

[RouterB-Ethernet0/0/0] igmp host-join 224.0.1.1
[RouterB-Ethernet0/0/0] interface ethernet 1/0/0
[RouterB-Ethernet1/0/0] ip address 33.33.33.2 24
[RouterB-Ethernet1/0/0] igmp enable

[RouterB-Ethernet1/0/0] pim dm

[RouterB-Ethernet1/0/0] quit

# BeE4{ECEthernet1/0/0J9Ethernet0/0/0fIGMP ProxyftEEE].,
[RouterB] interface ethernet 0/0/0

[RouterB-Ethernet0/0/0] igmp proxy ethernet1/0/0
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